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public class BubbleSort {
public static void main(String args[]) {

}

}

int a[]

for (int 1 = @0; i < a.length;

}

i++) {
System.out.print(a[i] + " ");

System.out.println();

boolean flag

= true;

while (flag) {

}

flag = false;
for (int 1 = 1; 1 < a.length;
if (a[i-1] > a[i]) {
int w = a[i];
a[i] = a[i-1];
al[i-1] = w;
flag = true;

i++) {

}

for (int i = 0; i < a.length; i++) {
System.out.print(a[i] + " ");
}

System.out.println();
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= {56,11,10,73,55,50,72,57,3,11,21,87};
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yearl = int(input('FABEEZAI]")) (01) yearl
(02)
if yearl > 2018: (03) BUL yearl > 2018 5L :
year?2 = yearl - 2018 (04) year2 = yearl - 2018
print('R", year2) (85) 9 D("R", year2)
else: (06) E=5TRINEZ :
year2 = yearl - 1988 (87) year2 = yearl - 1988
print('H', year2) \EBB) - RID("H", year2)

o~ O s W N =

7g & — o & ¢ = input(), yearl = input(x)d 2 {7 F EHITHED
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yearl = int(input('FABEEZAI]"))

if yearl > 2018:
year?2 = yearl - 2018
print('R", year2)
else:

year2 = yearl - 1988

Lo~ O s W N =

print('H", year2)

Pythona— F %

(01) yearl le%‘ﬁ* < Bﬂ (’1 ‘!\.

(02)

(83) BHL yearl > 2018 X5 :

(04)
(05)

yearl = yearl - 2018
9 D("R", year2)

(e6) EOTRRINIE :

(07)
(08)

yearl2 = yearl - 1988

- RID("H", year2)

75 & — Fo & ¢ = input(), yearl = input(x)D 2 TEF EDHTEED
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samrs, RELTEME=>UR

A samplel.py - C:/Users/a163114500/Downloads/samplel.py (3.9.6) I D L E

File Edit Format Run Options Window Help
vear! = int{input( FAEEZ AT 7))

towearl > 2018: _
vear? = yearl - 2018 2 IDLE Shell 3.9.6

E|Seprlﬁt[ T yearZ) File Edit Shell Debug Options Window Help

year? = yearl - 1988 Python 3.9.6 (tags/v3.9.6:db3ff76, Jun 28 2021, 1!
print("H, vear?) D64 ] on win3Z

Type "help”, "copyright™, “credits” or "licensel()

RESTART: C:/Users/al163114500,/Down

o005 INE: /B R A 12023
LS YAN VLD 5> |

HEH ,
tehm LT < # CRR (S ELE




OAL N DHEE = OfF5 = OQE1T - &

i]lhﬁﬁﬁ%ﬁﬁﬁﬂ&$ﬁ[ﬂF]
BT 1479 DifinEiE> THER

© TS LAENRE - ETLED

TR

POPITTD

AEAHD
BEZR

(CTO0SLAEER U THED ~
ile=New File TIHE{ER

79 }
% =3 e, SEEOONE
D17 FT9)

No(=2)TIRMEIR LI5S AT RPG




yearl = int(input('BBFZAN"))

| if yearl > 2018: =

year2 = yearl - 2018

print('R', year2)

| else: —

year2 = yearl - 1588

print('H', year2)
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W

00 ~ o v B w N B

yearl = int(input('faBFE=Z AN"))

iif“yearl > 2818:

year2 = yearl - 2018
print('R', year2)

elif yearl >1988:

year2 = yearl - 1988
print('H', year2)

year2 = yearl - 1925
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Python JO—F v — ~IE@SR * @5 X S CEDNZHAARENR—RADSE
\

X = input('&EiHZEAS") f x = [FBBSMDAS]

nenrei = int(x) nenrei = E#(x)

1

2

3

4| if nenrei >= 60: EL nenrei >= 60 15 :
5 daikin = 1200 daikin = 1200
6

7

8
S

elif nenrei > 18: ZOTIREALKEL nenrei > 18 IB(H:
daikin = 1800 daikin = 1800

else: TOTRITNE
daikin = 1000 daikin = 1000

10
11| print(daikin) F~ 9 D (daikin)
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hum = int(input('BZAERZATI"))

total = ©
for 1 in range(1l, num+1):
total = total + 1

print(total)

[(FrEfNSDAT]

total = ©
iZ1INBnumET LI DELLEHASIENIRT
L_ total = total + 1

F~9 B (total)
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meibo = ['LLE", 'Ak', Y, AR (01) Meibo = {"WuE", "#k", "JlIFHF", "F"}
print(meibo) (02) FRID(Meibo)

print(len(meibo), '&T1EFH"') (03) FRID(ES(Meibo), "&IEEE")
print(meibo[2]) (04) FRID(Meibo[2])
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kion = [32, 28, 26, 37, 29, 30]
= kion[@]
for 1 in range(6):
if kion[i] > m:
= kion[i]

print(' SRS, m, 'E")

(02)
(03)
(04)
(05)
(06)

\

Kion = [32, 28, 26, 37, 29, 30]
m = Kion[@]

iZONBSSFET1ITDIEDOURLHISIENIET :

HEL Kion[i] > m &BI(L:

L_ = Kion[i]

%sz‘l( _luum m, "J’E")
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num = int(input('B&HEAN"))
flag = False
for i in range(2, num):
if num % 1 ==
flag = True
break
if flag == True:
print( 'Not P")
else:

print('P")

num = [SMEEDMSD AT
flag = False
iZm 205 num-1 ET 19 DIERULRHASENDIRT
HL FD(num/i) == 0 125(d:
flag = True
- fR0IELZERETT D
BHU flag == True I225(d :
Foord D("Not P")
THTRIINE : }S_(?;é{ - 53\,1.3{ .
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int(input('B2AE=EATY))

total = ©
for i in range(1l, num + 1):
if num % i == O:

total = total + i

print('&5T", total)

[(S+EE S D AT

total = ©

1Z 1S numET 19 DIERLENSIEDIRT .
ELU £D(num/i) == o IZ5IL:
L_ total = total + 1

Fr9ID("HET", total)
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import random

num = int(input('EIEEAT"))
atari = 0
for j in range(num):

X = random.randint(1, 6)

if x ==

atari = atari + 1

print('¥E5HIE", 1/6)
print("EATIER ", atari/num)

random E1—)LD1 > R— b

num = [FMEHSDAA]
atari = 0
num [BIf% DR :

x = &L&(1, 6)

BEUx == 11253 :
- |_atari = atari + 1
9D ("ERmE",
For9 D (HATIER",
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RN Ial—3 >
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import random

kosu = 1000
kosuIN = ©
for i in range(kosu):
X = random.random()
y = random.random()
if x**%2 + y**¥2 <= 1.0:
kosuIN += 1

W 00 NN o o B oW N

=
&Y

print('fE', 4.0 * kosuIN / kosu)

random B 1 —)LD-1 >h— b

kosu = 1000
kosuIN = ©

kosu [Bl##DIRT :

x = #L&X(0~1)
y = &l (o~1)
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(%] V> JHEE S+ 7 =Y matplotlib DA (4 2 FlEE) % B

@ Windows @~ > RSO > 7 MaiEh >=alb—>3>
@ pip install matplotlib

import random
# matplotlib @ pyplot T2 —JL%& plt LT >k—
import matplotlib.pyplot as plt

S 7)

| ¢ "- . .f‘.i
kosu = 1000 ' %M
kosuIN = @ . ) .
# DS IOHMOLHELERCICT S z& ﬂ' :“.
plt.axes().set_aspect('equal’) 21 gf S 'z‘i.éf &
for i in range(kosu): _ .:?3!& ot w
' 06 08

00 02 04

OO0 SN N s W N

=
[

x = random.random()

[
[

y = random.random()
if x**2 + y*%2 <= 1.8:

kosuIN += 1 # Z#8 kosulIN (C 1 B (kosuIN = kosuIN + 1 &RFELU)

plt.scatter(x, y, c='black', marker='o0') # EBEE(x, y)DMIECN—H— o' ZTFR mO-l-p | O-I- | i b
else:

plt.scatter(x, y, c='black', marker='."') # EBBEE(x, y)DMIEC~N—H—'.'ZTF~

print("MAEZE:", 4.0 * kosuIN / kosu)
plt.show()
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